H & 0l & AHS B Ml A

PN BYS
A FQINR Jlgt 23HELS)

ol A oMY BF &y EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
s 246,233 234,163 12,070

Al 3,490 2,200 1,290

- 242,743 231,963 10,780

TR Olet BHSLS) 137,305 134,925 2,380

Al 3,490 2,200 1,290

- 133,815 132,725 1,090

HE =pldE 8F =4 23,320 22,520 800

zl2et FAN2E 23,320 22,520 800

201 2Bt ] 23,320 22,520 800

2 s3234l 17,950 17,150 800

O2= R 3& 2,300,000& 2,300 1,500 800

FRIX 8 24 105,805 104,005 1,800

Al 2,500 0 2,500

- 103,305 104,005 AT700

=OIXRE 2203 29 18,59 21,095 2,500

301 LS 14,195 16,695 A2,500

1“2 = 14,195 16,69 22,500
Ox8Xxa 2¢ A+

ZE 14,195,000 14,195 16,695 2,500

S - BHEH 28 76,910 75,110 1,800

405 RhakF S| 1,800 0 1,800

01 MM =SFSHI 1,800 0 1,800

OsIE B2l 2 300,000 x64! 1,800 0 1,800

=QAXIE Z28 2| X2 2,500 0 2,500

Al 2,500 0 2,500

301 LetE2NS 2,500 0 2,500

Al 2,500 0 2,500

HIIEE2d= 2,500 0 2,500
Ox8XxIa 2g A+

2,500,000& 2,500 0 2,500

Al 2,500 0 2,500

WG] orMst Sl 2HED| 8,180 8,400 N220

Al 990 2,200 A1,210

- 7,190 6,200 990

FUNsLA XH 1,980 2,200 A220

Al 990 2,200 21,210

- 990 0 990

206 =4l 1,584 1,980 A3%6

Al 7R 1,980 n1,188

- 792 0 792

01 M=Hl 1,584 1,980 3%

OoggsE =74l S J& 1,584,000 1,684 1,980 3%

Al 792 1,980 ~1,188




SN BYS
HE: FOITIR| JI8t AHEYS)
SHRl: JHRGEID oHEE SU eHED| (CH9: /M)
M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
2 7% 0 7R
302 OI=L o2 A= 3% 220 176
Al 198 220 N7
2 198 0 198
02 QIZIOITHGHY ERES2 A2 3% 220 176
OFxiggsdc 2s2xH|
X 396,000 3% 220 176
Al 198 220 N2
2 198 0 198
HHSAAH(EULS) 108,928 99,238 9,690
Ol 2AH| 71,548 62,626 8,922
SA2Y ol 71,548 62,626 8,922
101 QIAH| 71,548 62,626 8,922
01 B 71,548 62,626 8,922
OAIZIQI 224 36,268 31,186 5,082
Sl = BE 12,8422 +34A 2128 10,481 5,113 5,368
Si= A 11,6022 x2H+34Al 2t 128 9,468 13,855 N4,387
o83 BE 10,4162 1B #3441 2+ 122 4,250 8,293 A4,043
Sl B 9,860 *x3H*34A| 2+ 128 12,069 3,925 8,144
OF U3 AE 140,000 %9« 12¢ 15,120 13,440 1,680
OXZE x| 20,160 18,000 2,160
o633 3 185,000 2« 12¢ 4,440 2,220 2,220
Si= A 180,000+ 128 4,320 6,480 ~2,160
=82~93 AF 175,000 x4 B« 12¢ 8,400 6,300 2,100
J|=23| 37,380 36,612 768
CYPIE=:1:] 37,380 36,612 768
201 Lete | 6,592 5,824 768
01 Al22t2|l 6,592 5,824 768
Ol |22+ S|
AY (8,0002x34«8H*67 )+(8,000R #5241 %8
H«62 ) 3,072 2,304 768




Al

Ol &F A

Al A

SN SRE
A FLUTXD|BHAEHSES)
CHRl: BB FOIME B X4 (SHol: )
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS2
sds 281,580 277,649 3,931
Al 3,445 2,100 1,345
- 278,135 275,549 2,586
FRIXXPD B EHSES) 157,675 185,697 1,978
Al 3,445 2,100 1,345
- 154,230 163,597 633
HEe F=LdEH &3 Xd 30,542 29,542 1,000
zl2et FAN2E 30,542 29,542 1,000
405 AHAHE S 1,000 0 1,000
01 AL =S F=HI 1,000 0 1,000
Osaa oA 2L 1,000, 0002 *1CH 1,000 0 1,000
=0T xlz =24 119,043 117,855 1,188
Al 2,500 0 2,500
- 116,543 117,855 A1,312
QEANE 22 5,923 4,735 1,188
405 KHoHFSHI 1,188 0 1,188
AL =S FSHI 1,188 0 1,188
OB XA 7 462,000 +2CH 924 0 924
O2te ¢ # 264,000 «1CH 264 0 264
FOITXE T2 2 19,400 21,900 22,500
301 EtE NS 13,900 16,400 22,500
14 JIEt2d=3 13,900 16,400 22,500
OFeAxe 28 A+
Z& 13,900,000 13,900 16,400 2,500
FO X2 28 24| K& 2,500 0 2,500
Al 2,500 0 2,500
301 EtE NS 2,500 0 2,500
Al 2,500 0 2,500
14 0Bt 2as 2,500 0 2,500
TN 2 28 ZAE
2,500,000 2,500 0 2,500
Al 2,500 0 2,500
JHRot erMEt SUl &HSD| 8,090 8,300 A210
Al 945 2,100 A1,155
- 7,145 6,200 945
Fotsgac X 1,890 2,100 A210
Al 945 2,100 A1,185
T 945 0 945
206 MH=HI 1,512 1,680 A168
Al 756 1,680 NG24
- 756 0 756
01 MZH| 1,512 1,680 A168
OoggE =74l S 33 1,512,000& 1,512 1,680 A168
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2A: STE
B FOITRIBLSHSTS)
9l THROID e SU| BHS))| (cHol 28
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
A 756 1,680 £924
2 756 0 756
302 OIF LG4 378 420 ndp
A 169 420 ~231
7 189 0 189
(2 Bl AR =P EE A 378 420 A4
OFNBYAC SERZY)
A 78,0002 378 420 rp
A 189 420 £231
3 189 0 169
BYESABHI(SZS) 123,906 121,952 1,953
ol ai| 79,805 78,812 9%
=A2e oz 79,805 78,812 9%
101 2121 79,805 78,812 9%
o1 24 79,805 78,812 9%
ONEIIEE NS 10,745 30,752 9%
=63 BT 12, B4R 2BUAII+ 128 10,481 10,226 255
=73 BT 11,6028 22UAI+ 128 9,468 9.237 231
=83 AT 10,4168 3BHBUAI+ 128 12,750 12,439 31
<93 BT 980022 34AI2H 128 8,046 7,89 196
EET 44,100 43,140 %0
EEIEET 44,100 43,140 %0
201 Qe 8,240 7,280 %0
01 ArR22IH] 8.240 7.280 960
OJlzgess S|
B (8,0002+341x102+6% )+(8, 0002541«
1021+6%)) 3,840 2,880 960




H £ 0l & AF & S

Al A

A HES
A FLUTXDIBHRAEHUHES)

ol A oMY BF &y EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
Has 370,208 365,163 5,045

Al 3,535 2,300 1,23

- 366,673 362,863 3,810

FOURRDBHEEHUES) 221,627 218,957 2,670

Al 3,635 2,300 1,235

- 218,092 216,657 1,435

HE =pldE 8F =4 42,877 2,477 400

zl2et FAN2E 42,877 2,477 400

405 RhakF S| 400 0 400

01 MM =SFSHI 400 0 400

OO0l SHHIH 400,000 400 0 400

FRIX 8 24 168,380 165,880 2,500

Al 2,500 0 2,500

e 165,880 165,880 0

=QAXIE Z28 23| X 2,500 0 2,500

Al 2,500 0 2,500

301 LetE2NS 2,500 0 2,500

Al 2,500 0 2,500

“IIE2d= 2,500 0 2,500
TN 2 28 ZAE

2,500,000& 2,500 0 2,500

Al 2,500 0 2,500

WD orMst SU 2HED| 10,370 10,600 A230

Al 1,035 2,300 N1,265

- 9,33 8,300 1,035

FoELA X2 2,070 2,300 N230

Al 1,035 2,300 N1,265

- 1,035 0 1,035

206 M=Hl 1,656 2,070 414

Al 828 2,070 A1,242

- 828 0 828

01 M=Hl 1,656 2,070 A414

OgdE M=t S 3& 1,656,000 1,656 2,070 A414

Al 828 2,070 A1,242

- 828 0 828

302 OIF=L Mol 2&t= 414 230 184

Al 207 230 223

- 207 0 207

02 2t SR ES2a =3 414 230 184
OxFeii=gad 2522

& 414,000 414 230 184

Al 207 230 N23

- 207 0 207




A UHES

B BESAA(EE)
el i Eg| (Gt H2)
A -3 - A4A(3H) - MRAY - BES 04| &keH Jl & o Hln=2
S CECETICEE) 148,561 146,206 2375
EEE %861 %63 1,223
Y T %, 861 %63 1,223
101 21248] %, 861 %63 1,223
01 9 %, 861 %63 1,223
OAlZt 2R Ay 50, 181 18,958 1,223
o62 HE 10, 8442102 $34AI 21102 10,481 10,226 255
o72 HE 11,6008432534AI 21102 14,201 13,855 346
-82 HE 10, 41621462534l 2102 25,499 24,877 622
SIEET 51,720 50,568 1,152
EYYDT=Ee 51,720 50,568 1,152
201 2oy 9,885 8,736 1152
01 A2 zaly| 9,688 8,736 1,152
OJl=eiess Sz
AT (8,000243A1% 122462 )+(8, 0008 +5AI»
1024562 4,608 3,456 {152




H & 0l & AHS B Ml A

A BxS
M FOITR JIEE A3HESS)

ol FUIRE 28 S EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
23 518,475 515,247 3,228

Al 3,625 2,500 1,125

- 514,850 512,747 2,108

FRIXIX| JIgt B3HE+S) 333,861 334, 111 2250

Al 3,625 2,500 1,125

- 330,236 331,611 N1,375

=0Ixz 28 S 248,982 248,982 0

Al 2,500 0 2,500

- 246,482 248,982 22,500

XS Z20Y 2Y 24,000 26,500 22,500

301 LRIEEZ 15,900 18,400 22,500

14 IIEt2 83 15,900 18,400 22,500
O=2XXE 28 A=

Z& 15,900,000 15,900 18,400 22,500

FOIXXIE T2 29H| X 2,500 0 2,500

Al 2,500 0 2,500

301 LRIEEZ 2,500 0 2,500

Al 2,500 0 2,500

14 JIEt2 8= 2,500 0 2,500
O=F2UXXIE 28 SA=E

2,500,000 2,500 0 2,500

Al 2,500 0 2,500

JHRokD erAst Sl BHED| 9,450 9,700 A250

Al 1,125 2,500 N1,375

- 8,325 7,200 1,125

FAAsgad X 2,250 2,500 2250

Al 1,125 2,500 21,375

- 1,125 0 1,125

206 TH=HI 1,800 2,250 2450

Al 900 2,250 21,350

e 900 0 900

01 THZHI 1,800 2,250 A0

O EH| JIXH & KR+

3 1,800,000& 1,800 2,250 A450

Al 900 2,250 21,350

- 900 0 900

302 OIF=LTHHEA S 450 250 200

Al 225 250 N5

T 225 0 225

02 QI A =S ES2a= 450 250 200
OFoEgt 22X

23 450,000 450 250 200

Al 225 250 A5

e 225 0 225




2N B4S
M HNSAAY(E4E)
cHol: oliegy| (B9 &)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hws2
HEHSHAY|(2HE) 182,614 79,136 3,478
olt 2| 120,814 119,064 1,750
SN2Y o2 120,814 119,064 1,750
101 Q124 120,814 119,064 1,750
01 24 120,814 119,064 1,750
OAlZtelaRsg 62,734 60,984 1,750
63 AT 12, 84250 34AI 2hx 122 10,481 10,226 255
o732 AT 11,6002 54 x34AI 2hx 122 18,935 18,473 462
o83 BT 10,4162145% *34AI 2hx 122 21,249 16,565 4,664
=93 2T 9,802 *3%x34AI 2Hx 128 12,069 15,700 A3,631
1= 61,800 60,072 1,728
=N Jl=Zl 61,800 60,072 1,728
201 Y2 y| 12,360 10,632 1,728
01 Al 221H| 12,360 10,632 1,728
OJl=gess S|
2 (800021534 x 155462 )+(8,0002+541»
1521+68) 5,760 4,082 1,728




H & 0l & AHS B Ml A

2N PES
Zal: ZOINA JIY ASHEYE)

o9l FRINKIE 29 (crol: m2)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
R 533,476 531,739 1,737

Al 3,445 2,100 1,345

- 530,031 529,639 30

FOIXER| JlEt A3HRES) 409,798 410,008 £210

Al 3,445 2,100 1,345

2 406,353 407,908 A1,555

FoInxial 29 166,502 166,502 0

Al 2,500 0 2,500

2 164,002 166,592 £2,500

oINS Z20E 2 18,500 21,000 22,500

301 Yer2E I 14,500 17,000 £2,500

UBIEERE 14,500 17,000 £2,500
OFBXAE 2 2A+Y

A 14,500,002 14,500 17,000 £2,500

FOINXE D20 24 N 2,500 0 2,500

Al 2,500 0 2,500

01 Yer2 w3 2,500 0 2,500

Al 2,500 0 2,500

14 JIEF2 A2 2,500 0 2,500
OFBIXAE 2 AM+Y

2,500,000 2,500 0 2,500

Al 2,500 0 2,500

HR5tD HEE S S| 8,320 8,600 £210

A 945 2,100 A1,155

2 7,445 6.500 %5

FoInsYAE X 1,890 2,100 2210

Al 5 2,100 A1,155

2 45 0 45

206 TH26| 1,512 1,890 £378

Al 756 1,890 SRE”

- 756 0 756

01 HEH 1,512 1,890 A378
ONSYAL LANY HEH|

A 1,512,002 1,512 1,890 ~378

Al 756 1,890 A1,134

2 756 0 756

302 OIFLTHAH2 &2 378 210 168

Al 189 210 Aot

2 189 0 189

CREREEIEE oS 378 210 168
OFoINSYAL ES2X)

2% 378,000 378 210 168

Al 189 210 A2t

- 189 0 189




A RES
M HYRIZH(RES)
el QIEE2E x2)
A -3 - SRA(3H) - HRAE - BES I3 A
HH2I3JHI(RES) 123,678 121,731 1,947
eIg =g 79,578 78,591 087
FA2E AHZHY 79,578 78,591 987
101 1A 79,578 78,591 987
01 2= 79,578 78,591 987
OAlRAZ 25 40,518 39,531 987
ob= BE 12,8432 +34A 2128 10,481 10,226 255
o7g BE 11,6022 2 +34A 12+ 122 9,468 9,237 231
o8z BE 10,4162 +34A 12« 128 8,500 8,293 207
S = & 9,860 +3H+HUAI+ 123 12,069 1,775 24
=3l 44,100 43,140 960
2AI1=23H] 44,100 43,140 960
201 Let2 8,240 7,280 960
01 At22 8,240 7,280 960
oJl=g Eial
& L0002 *341x10Z 6 )+(8, 0002 x541*
10H+62) 3,840 2,880 960
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H £ 0l & AF & S

Al A

A BES
M FOIXR DB BsH(EES
SHol: FOIKIKIE 2% (SHol: )
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS2
d=s 222,044 220,673 1,371
Al 3,445 2,100 1,345
- 218,599 218,573 26
FRIXEX| JlBt B3HE=S) 133,479 133,689 A210
Al 3,445 2,100 1,345
- 130,034 131,589 1,555
F2 Az =24 102,070 102,070 0
Al 2,500 0 2,500
T 99,570 102,070 22,500
FOTXE T2 2 19,400 21,900 22,500
301 EtE NS 15,400 17,900 22,500
14 IIEt2 83 15,400 17,900 22,500
OFuAxe 8 A+
d& 15,400,000 15,400 17,900 2,500
FO X2 28 24| A& 2,500 0 2,500
Al 2,500 0 2,500
301 LEtE NS 2,500 0 2,500
Al 2,500 0 2,500
14 JEt2a s 2,500 0 2,500
O3 28 A+
2,500,000 2,500 0 2,500
Al 2,500 0 2,500
JHRotD orMEt SUl eH=S0 8,090 8,300 A210
Al 945 2,100 N1,186
- 7,145 6,200 945
FAAsgad X 1,890 2,100 A210
Al 945 2,100 1,155
T 945 0 945
206 M=l 1,512 1,890 A378
Al 756 1,890 A1,134
- 756 0 756
01 MZH| 1,512 1,890 A378
Oogsg =74l S 33 1,512,000& 1,512 1,890 A378
Al 756 1,890 A1,134
- 756 0 756
302 OI==H a2 &= 378 210 168
Al 189 210 21
- 189 0 189
02 2 s e S243 378 210 168
OFii=gad 2522
33 378,000& 378 210 168
Al 189 210 A21
- 189 0 189
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N BES
. dY2I3H(2=3)
el i Eg| (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
AY2IZHI(F=S) 88,565 86,984 1,581
eI¥ 23l 54,545 53,636 909
FAEY 0523l 54,545 53,636 909
101 21=24H 54,545 53,636 909
01 2= 54,545 53,636 909
OAZ2Z22+E 27,005 26,09 909
o6= B3 12,8M4R*1B 32128 5,241 5,113 128
o732 B 11,6022 +34A1 2t 128 9,468 4,619 4,849
=82 38 10,4162 =1 *34AI 2+ 128 4,250 12,439 8,189
=92 B8 9,800 234N 2122 8,046 3,925 4,121
Jlz23tl 34,020 33,348 672
SA123 34,020 33,348 672
201 Let2aY| 5,768 5,006 672
01 At 2teltl 5,768 5,006 672
OJl=gR=8 S
ZE (8,000 <341x7H+6E )+(8,0002 x541%7
H+6d) 2,688 2,016 672
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H £ 0l & AF & S

Al A

FA LS
M FOIXR DB ABHERES
chel: FUXXIE 29 (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
SR 221,456 220,330 1,126
Al 3,445 2,100 1,345
- 218,011 218,230 2219
FRIXIX| Jl8t B3HEES) 132,604 132,814 2210
Al 3,445 2,100 1,345
- 129,159 130,714 A1,555
=0T xle 24 97,880 97,880 0
Al 2,500 0 2,500
- 95,380 97,880 22,500
XS Z20Y 2Y 20,550 23,050 22,500
301 LRIEEZ 16,320 18,820 22,500
14 IIEt2 83 16,320 18,820 22,500
O=2XXE 28 A=
d& 13,920,000 13,920 16,420 22,500
FOIXXIE T2 29H| X 2,500 0 2,500
Al 2,500 0 2,500
301 LRIEEZ 2,500 0 2,500
Al 2,500 0 2,500
14 JIEt2 8= 2,500 0 2,500
O=F2UXXIE 28 SA=E
2,500,000 2,500 0 2,500
Al 2,500 0 2,500
JHRoELD erA st SUIRHED] 8,090 8,300 »210
Al 945 2,100 A1,155
- 7,145 6,200 945
=2 e g9e X 1,890 2,100 2210
Al 945 2,100 A1,155
- 945 0 945
206 TH=HI 1,512 1,680 2168
Al 756 1,680 £924
e 756 0 756
01 THZHI 1,512 1,680 A168
Ogs W=l Z& 1,512,000 1,512 1,680 168
Al 756 1,680 A924
- 756 0 756
302 OIF=L T2 A= 378 420 AG2
Al 189 420 2231
- 189 0 189
02 QIRIOITHH A S ES2a= 378 420 VaN 7
O=oiktsgat gs=224|
23 378,000 378 420 N2
Al 189 420 A231
e 189 0 189




FA LS
I HY2IZHI(EELS)
el i Eg| (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
AY2SZHI(EES) 88,852 87,516 1,336
eI¥ 23l 54,832 54,168 664
FAEY 0523l 54,832 54,168 664
101 21=24H 54,832 54,168 664
01 2= 54,832 54,168 664
OAZ2Z22+E 27,232 26,568 664
o6= B3 12,8M4R*1B 32128 5,241 5,113 128
o732 B 11,6022 +34A1 2t 128 9,468 9,237 231
=82 ZE 10,4162 x2S *34A1 20128 8,500 8,293 207
=92 B8 9,800+ 134N 2122 4,023 3,925 B
Jlz23tl 34,020 33,348 672
SA123 34,020 33,348 672
201 Let2aY| 5,768 5,006 672
01 At 2teltl 5,768 5,006 672
OJl=gR=8 S
ZE (8,000 <341x7H+6E )+(8,0002 x541%7
H+6d) 2,688 2,016 672
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H & 0l & AHS B Ml A

A EF1S
M FOIXX JIEE AHE=1S)
chel: FUXXIE 29 (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
I=1S 3%4,138 367,911 26,227
Al 3,490 2,200 1,290
- 390,648 365,711 24,937
FRIXIXI JI8t B3HEF1S) 270,460 246,180 24,280
Al 3,490 2,200 1,290
- 266,970 243,980 22,990
=0T xle 24 178,800 154,300 24,500
Al 2,500 0 2,500
- 176,300 154,300 22,000
XS Z20Y 2Y 45,000 23,000 22,000
301 LRIEEZ 11,000 13,500 22,500
14 IIEt2 83 11,000 13,500 22,500
O=2XXE 28 A=
Z& 11,000,000 11,000 13,500 22,500
405 THHE S 25,500 1,000 24,500
01 Tt =S F=HI 25,500 1,000 24,500
O35 =84 L&8H & HIS S 1A 24,500 0 24,500
oL HEEX, ALIF, BE S
20,000,000 14! 20,000 0 20,000
oLE= 1,300,000 *1CH 1,300 0 1,300
=ZO0lAl 2Tt 40,0002 =80 7K 3,200 0 3,200
=QUXXIE Z28 2| X2 2,500 0 2,500
Al 2,500 0 2,500
301 LEEHZ 2,500 0 2,500
Al 2,500 0 2,500
14 JIEt2 8= 2,500 0 2,500
O=F2UXXIE 28 A=<
2,500,000 2,500 0 2,500
Al 2,500 0 2,500
TGt erMEt SUl eHSDI 8,980 9,200 N220
Al 990 2,200 A1,210
- 7,990 7,000 990
FUAsgad X 1,980 2,200 2220
Al 990 2,200 21,210
- 990 0 990
206 THZHI 1,584 1,990 2406
Al 792 1,990 A1,198
oE 792 0 792
01 M= Hl 1,584 1,990 406
Ogs W=l ZF 1,584,000 1,584 1,990 406
Al 792 1,990 21,198
- 792 0 792
302 OIF=LTHH 2 A= 3% 210 186




S YEIS
M ORI Ol YSH(AFIS)
CHol: JHR5H O | oS0 2l
SN - BE - SA(B) - NRAY - BES 0 & ol o
Al 198 210 AT2
2 19 0 198
2 BRI L Z RS2 AS 3% 210 186
OFoINBY AL BER XY
2T 39,0002 3% 210 186
Al 198 210 A2
> 198 0 198
B 2P (IF1S) 123,678 21,731 47
olzi 2| 79,578 78,591 987
SA2Y o2y 79,578 78,591 987
101 124 79,578 78,591 987
01 2= 79,578 78,591 987
ORI ZRAE 40,518 39,531 087
=63 A 12,8442 x22534AI 20 122 10,481 10,226 255
o738 AT 11,6028 522 x34AI 20 122 9,468 9,237 231
=83 AT 10,4162 x22x34AI 20 122 8,500 8,293 207
o923 2T 9,800 X3 x3UAI2H 122 12,069 11,775 294
SIEETT 44,100 43,140 90
EBIEET 44,100 43,140 960
201 LBt2 ] 8,240 7,280 960
01 AR 22lt] 8,240 7,280 90
OJlzgesd S|
2% (8,0002+341% 102 +6 2 ) +(8, 0002 #5410
1024+62) 3,840 2,880 90
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H £ 0l & AF & S

Al A

SN YFes
B2 FOITLR| I8 UsHYF2S)

S9l: FOIXAIE 2 (crel: g)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
EET 436,776 435,446 1,330

Al 3,580 2,400 1,180

- 433,196 433,046 150

N PEIEEICES) 260,772 270,012 2240

Al 3,580 2,400 1,180

2 266,192 267612 A1,420

e 190,702 190,702 0

Al 2,500 0 2,500

2 168,202 90,702 £2,500

FOIRRE 20 29 24,700 27,200 22,500

301 LBHRFI 16,000 18,500 22,500

14 JIEF2 412 16,000 18,500 £2,500
OFRNNIE 2 LA+

33 14,000,008 14,000 16,500 £2,500

FOIRAIE T2 29| X2 2,500 0 2,500

Al 2,500 0 2,500

301 LBHRHI 2,500 0 2,500

Al 2,500 0 2,500

14 JIEF2 412 2,500 0 2,500
OFBNXE 2 LA+

2,500,002 2,500 0 2,500

Al 2,500 0 2,500

MWRotD orEet U 9,460 9,700 2240

A 1,080 2,400 A1,320

2 8,380 7,300 1,080

FOIRS YA 2,160 2,400 2240

Al 1,080 2,400 A1,320

2 1,080 0 1,080

206 TH26| 1,728 2,160 £432

Al 864 2,160 A1,29%6

- 864 0 864

o1 HEH| 1,728 2,160 £42

Omolz 5 A3 1,728,002 1,728 2,160 £42

Al 864 2,160 A1,29%

> 864 0 864

302 012 Thol 2 & 43 240 192

A 216 240 ~24

2 216 0 216

R IR 4% 240 192
OFaNsYA FS2XY)

A 43,0002 43 240 192

Al 216 240 N4

- 216 0 216




A EF2S
M AHH2HAL(Z=28)
&2l I 2| (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
HY2HAH(YF28) 167,004 165,434 1,570
eI 2 111,924 111,602 322
EAEE 523 111,924 111,602 322
101 @124H| 111,924 111,602 322
01 2= 111,924 111,602 32
OAIZII 22+ 57,744 57,302 442
obg ZE 12,8443x2Tx4AI 2128 10,481 15,338 A4,857
org A 11,6022+ 2 +HAAI 2128 9,468 9,237 231
=85 EE 10,416~ +7B+34Al1 2128 29,749 24,877 4,872
95 ZAE 9,800+ 2H*HUAlI 2128 8,046 7,850 196
OXSE x| 30,660 30,780 2120
=65 ZF 185,000 2% 128 4,440 6,660 N2,220
o8=~0=2 23 175,000 «9F « 122 18,900 16,800 2,100
Jl=&d| 55,080 53,832 1,248
2AMJI=Z3H 55,080 53,832 1,248
201 223 10,712 9,464 1,248
01 AtR2telt] 10,712 9,464 1,248
OJI2gR=+ S|
& (8,000 341136 )+(8,000& +541*
13«6 4,99 3,744 1,248
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